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1. The subcellular organelle not bound 8. Phylogenetic system brings out
by a single membrane is (A) Reproductive similarities
(A) Golgl apparatus (B) Grouping  acebrding
y (B) Endoplasmic Reticulum morphological characters
(C) Mitochostiria (C) Grouping on the basis -
(D) Lysosomes Increasing complaxities
(D) Grouping accomding to evoiution:
- 2. Bilood proteins of following are similar trands
\ (A) Man and Gorilla
(B) Man and Macaca 7. The aingla group of organisms '-:.'hl
(C) Manand Ape contains over 0.75 million species is
(D) Man and Monkey iy
(B} Animal
3. All the animais living in a particular (C) Monkeys
area are collectively called (D} Fungi
(A) Vegetations
(B) Flora 8 Silenl valley is a place in
(C) Fauna (A) Himalayas
(D) Both (A) and (B) L i gy
(C) Kerala '
4.  When biological names are written in (D) Tamilnadu
a paragraph 7
(A) It is written in italics 8. Slime moulds resemble
(B] It iz underiined {A) Fungi
(C) Itis not underined (B) Animals and fungi
(0) A+B (C) Plants
(D) Animals
5. The tarm taxon' for the first time was
used by 10.  Which is absent in archaebacteria 7
(A) ICBN (A) Polysaccharides
(8) ICZN (B) Peptidoglycan
(C) Mayr (C) Lipids A
(D) de Condolle {0} Proteins
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8

12.

13.

14.

Which af the following bacleria Is a

parasite on other bacteria 7
(A) Bellovibrio
(B) Beggiatca

(C) Virbio
(D) Bacilh

In bacteria, the respiratory enzymes
are located in

(A) Plasmid
(B) Episoma
({C) Mesosome
(D)  Nucleoid

Ultimate source of geneatic varabdity is
(A} Mutation

(B) Genatic dnft

(C) Gaene flow

(D) Gene exchange

Matural selection means

(A] Better adaptability

(B) Better survival

(C} Elimination of less adapted
(D} Al of the above

Co-discoverer of Darwinism was
(A) Malthus

(B) Wallace

(C) Ruskin

(D) Robert

16

17.

18.

19,

20.

The first lite forms which developel
on Earty Earth are called

(A) Mycobiant

(B) Phycobiant

(C) Protobiant

(D) None of the above

The number of nerve cells presen
human brain is

{A) 10 billion
{B) 1 billlon
(C) 100 billion
(B) 200 bilkon

Circular single strand DNA ocours if
bacteriophage

(A) Ta Ty

{B) X174, M,

Gy &. 7, Py
D) Ty #s r

Study of shells, especially those g
mollusks is known as

(A) Malacology
(B) Conchology
(C} Entomology
(D) Ophiology

Process absent in viruses is
{A) Replication

(B) Protein synthasis
(C) Mutation

(D) Energy liberation
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21,

23,

22.

24,

Red tides are produced by
{A) Diatoms

(B) Dinophyceae

{C) Red algae

(D) Blue algad

Saxitoxin is produced by
(A) Nochitula sps

(B) Ceratium sps

(C) Gonyaulax sps

(D) None

in Euglena, food is stored in the form
o

(A} Paramylon granules
(B} Protein

(C) Fat

(D} Sucrose

The major tunction of contractile
vacuole is

(A} Excrelion

(B) Circulation

(Cy Osmoregulation
{0) Al the above

Intarferons are synlhesized in
responsa to

(A) Mycoplasma

(B) Bacteria

(C) Viruses

(D) Fungi

28.

27.

28.

29,

30.

First artificial inseminated buflalo wag
produced al

(A) Kamal

(B) Allahabad
(C} Panipat
(D) Delhi

Wine yeas! 15

{A) S. Cerevisiae
(B) 5. Piriformis
{C) 5. Eliipsoidens
(D) 5. Sake

Myasthenia gravis is relaied io
(A)  Autoimmunity

(B) AIDS

(C) Intererons

(@) Immune disorders

In human being, following sex
chromosomaeas are found

(A) XX

(B) XX and XY
(C) XY

(D) None of these

Cell secretion is done Dy

(A) ER

(B) Plastids

{C) Golgi complex .
(D) Nucleolus
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31,

32

33

36,

Glyoxysome help in

(A) fatly acid metabolism
(B) glyoxyliate

{C) beta oxidation

(D) all the abova”

Which of these is initiating codon ?
(A AUG
(B) UAA
(C) UGA
(D) GUG

Which disease is called as splenic
fever 7

{A) Anthrax

(B) Maslitis

(C) Tuberculosis
(D) Brucellosis

Poor Man's cow IS
{A)
B}
(C)
(D)

Deer
Sheap
Bilch
Goal

QOutside of living ceall, the virus particie
s called

(A Wirion

(B) Capsid

(C) Obligate parasite

(D) MNaone of these

An IUCD is

(A) Pile

(B) Vaseciomy
(C) Copper-T
(D) Condom

37.

38.

41,

Neuritis 15 caused due o
(A) Tobacco

(B) Smoking

(C) Alcohol

(D) Smack

One of the following has been proved
a good tool for de-addiction 7

(A)
(B)
(C)
(D)

Vitamin K
Teratogen
Vitamin C
MNone of these

Groundnut s a
(A
(B)
()
(&)

Middie world crop
Mew world crop
Present day crop

Ol world crop

Vitamin A |s necessary for tha
synthesis of

(A)
(B)
(C)
(D)

Haemaoglobin
DMNA
Visual purple
RNA

Lichens are the best indicators of
(A)
(B)
(C)
(0}

watar poliution

air pollution

soil pollutian W
all the above
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42, Formula of vertebral column is 47. Which of the foliowing is edible algae 7
(A) CgTyalgS,Cdys (A) Porphyra
' (B) CyTypleS,Coig (B) Ulva
(C) CoTysly5,0d,5 (C) Botholthese
ke (D) C,T,4L,S,Cdyq (D) None of these
I 43. Highest B.M.R, is found in | 4B8. Akinetes are found in
(A} Whale (A) Caollectotricum
(B) Elephant (B) Aspergillus
(C) Rabbit (C} Fems
(D) Man (D) Cladophora

44, Anexception to septate hyphae of sac 44, Which is not the moss species in

fungi is following ?

(A) Rhizopus (A) Funaria

(B) Penicilium (B} Barbula

(C}) Yeast (C) Polytrichum

(D) Agaricus (D} Noneofthese 40
45. Shitake Mushroom is , 50. Fem prothallus is

(A) Agaricus campesins (A) Hetarotrichous

(B) Volvariella volvacca (B) Heteromorphing

(C) Agaricus brunescens (C} Heterothallic

(D) Lentinus edooes (D) Homothallic
45. Delicate perfume is got from 51. Which is the amphibian among plant

{A} Lobularia pulmonaria (A) Mosses

{B) Ranalina (B} Fems

(C}) Evemia pruneutn (C) Bothofthese

D) A+B (0) Mone of thesa
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52,

53

5a.

Which one is non endospermic sead 7
{A) Pea

(B) Rice
(C) Maize
(D) Wheat

Respiratory organs in sponges
(A} areabsent
(B} choanocytes

(G) aregemmules
(0} pinacocyles

Which cells are found only in sponges 7
(A)  Amoeoboid celis

(B) Choanocyles

{C) Trichocysis

(D) Gland celis

Thi body cavity of nematote
{A) Contains blood

(B) Spleen of man

{C) Human blood

() Is filled with parenchyma

Earthworms have

(A) 4 pairs of Hear
(B) Mo Heart

(C) 2 pairs of Hearl
(D) Blue blood

§7.

58.

B1.

Which of the following cannot fol
its wings 7

(A) House fly

(B) Cockroach

(C) Fruit fiy

(D) Dragonfly

Anstotie’s latern is found in
(A) Jelly fish

(B) Sea lily

({C) Seaansmane

(D) Sea urchin

Electric organ of electric cell |
located in the

(A) tail
(B)+ head
©) gils
D) dorsalfin £

Pipais a

(A} salamander
(B) toad

(C) frog

(D) snake

Which of the
nonpoisonous 7
(A) python

(B} coral snake

follawing

(C) wviper -
(D) krait
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B2.

The foot of bird has
(A) threeloes
(8) fiveloes
(C)
(D) onelos

four toes

Which of the following animals naver
drink waler ?

(A) Kangaroo
(B) Bat

(C; Kangaroo ral
(D) Monkey

Micaliular theory was givan by

(A) Femandez-Moran
(B} Rosanan

(C) Frye and Edidin
(D) None of the above

The thickness of plasma mambrane is

(A) 250°A
(B) 20°A
(C) 120°A
(D) 100°A

Resolving nameas of human eye Is
(A) 50 um

(B) 150 um

(C) 100 pm

(D) 200 pm

67,

68,

B4,

7.

Fis

Electron microscope has

(A) polanses o analyser filliers
(B) objective ol ocular lenses
(&) fluorochrons

(D] electro magnalic lenses

Pit membrane comprisas of

(A) primary wall
(B) secondary wall
(C) middle lamella
(D) A+B

Groundnut and rape oil seeds
pOSSESs

(A]
iB)
(C]
(D)

Leucoplast
Aleuroplas!
Elaiopiast
Chromoplast

Nucleolus take part in the synthesis
of

(A)
(B)
(<)
(D)

r ANA

m RMNA

t RNA

None of these

A Microtubule is formead by

(A} 13 filaments
(B) 1 filaments

(C) 8filaments .
(D] 11 filaments
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Glycogen is related 1o
(A) Glucose

{B) Ribose sugar

{C) White appe:aranm
(D) Lactose

A fibrous polysaccharide is
(A) glycogen

(B) cellulose

(C) starch

(0} chitin

Immediate source of callular anargy
s

(A) NADP

(B} ADP

(C) ATP

(D} NADH

The 15 enzymeto be nnratajﬁgsed Was
(A} Lysczyme

(B} Urease

(C) Nuclease

(D) Lipase

A mitogen 5 a substance that
(A) blocks mitosis

(B) promoles mitosis

(C] causescancer

(D) breaks spindle fibres

fr.

78

80.

81.

Colchicine influences

(&) DMNA replication

{B} Chromosome condensalion
(C)  Orgamsation of spindle

(D) Chremosome division

Who is known as the father of
Phycology ?

(A} De Bary

(B) Fritach

(C) Aristotle

(O} Hodgkin

Which one of the Tollowing traits was.
not studied by Mendel 7

(A) seed size

(B} flower colour

(C) seed colour A
(D) pod wrinkied or inffsfed

In humans aloinism is determinad by
(&) Dominant gane
(B) Recsssive gang
(C) MNone of these

(D) Co-dominant gene

Kolreular performed his experi

on differant varieties of

(A) Tomate

(B) Tobaco =

(C) TunizE—

(D) Tecoma
I

1
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82

86.

Chromosomes map for the 1% time
was prepared by

(A) Bridges

(B) Watson

(C} Margan

(D) Holley

Which of the following is correct for
tetrasomic aneuploids 7

(A} 2n-2
(B) 2n+2
CYy 2n-1+1
(D) 2n+242

The genctype of a body having the
sexual character of a girl is

(A) XXX
@) XXY
(C) XY
(D) XYY

Oul of 64 possible condons, how
many code for amino acids 7

(A) 58
B &1
(C) 60
(D) 83

Gene s made of DNA was

gxperimentally proved by

(&) Griffith

(B) Meselson and Stahl

(C) Maeischer

(DY Avery and his Colleagues

87

B8,

B9.

90.

g1.

Nutritional mutatants are called

(A} Phototrophs
(B) Nyxotrophs
(C) Auxotrophs

(D) Hetrotrophe

Which is nol a carcinegen 7
(A) X-ray

(B) HNO,

(C) Virus

(D) Starch

The procass of joining of stratches ol
functional genes is called as

{(A) Splicing

(B) Gene manipulation

(C) Differentiation 1
(D) Lysogene ok, e

The number of genas involved in}
triggering of cancer in the celis

(A) 40-20
(B) 30
(C) 40
D) 40-30

Turner's syndrome is represented b
(A) XYY

(B) XXX

(C) XO

(O) XXX
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82

85

‘Alkaptonuria’ is became of each of 87
BNEyme
(A) oOxidase
(B) alanine o
(C) urease
(D) tyroesinara
58
Gene therapy includes
(A} curing geneatic disease
(B) removing defective gene
({C) replacing daefective gene with
normal genas
(DY) all of the above 99,
The worlds first cloned mammal is
(A} Wolly
(B8) Dolly
(C) Mally
(D) Polly e
Free nuclear division in, the
angiosperms takes places dunng the
formation of
(A) Male gametophyle
(B) Endosperm
{C) Female gametophyle
(D) MNone 101.
Pollen tube is formed from
(A) Intine
(B Polien wall
(C) Exine

(D) Mone of these

Tyloses are pressnt in
(A} primary xylem
(B) phioem

(C} secondary xylem
(D} pith cells

Homoiothermal animals are

(A} Frog, Lion, Fish

(B) Bat, Pigeon, Ral

(C) Pigeon, Lizard, Trilose

(D} Rabbit, Snake 1o Crocodile

Each sarcomere exlends from
(A) A band to A band

(B8] AloZband

(€) ZfinetoZline

(0} Extended between | bands

I L I
Chemical which reduc!'&‘-?ﬂla of
transpiration

(&) PMU
B) PKU
(C) IAA

(D) DCMU

Due to over-watening of plants, the top
soil losas minaral nutrient by

(A) Smearing
(B) Weathering
(C) Leaching .
(D) Gravitation
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102. Population increases in a geometric 107. Bagillus Subtillis forms how many

g ratio while food supply increases in antibiotics ?
' arithmetic ratio is according 1o (A) 40
(A} Roentgen (B) 80
{B) Malthus (C) 60
. (C} Chadwick ) 100
; (D) Niel Bohr

108. What was the product of anclent

-103, Most active ingredient of Marijuana is biotachnology 7
(A) ergosterol (A) Soma
(B) tetrahydro (B) Alcohol
(C) ergastin ©) Sura
(D) none of these D) Allof these

104. Which chemical is used for fusion of o ? :
profoplast of two cells 7 108. Lymph nodes are 1o fight against

(A) P.EG. (A} RB.C.

(B) Both A+C (B] W.BC.

(C) Sodium nitrate (C) Lymph - L.‘".*I_
(D) Germs

(D) Moneof these

105. Onion came from which country ? 110. A human ovum contains
(AY USA (A) apair of X chromosomes
(B) Ceantral America (B) YY chromosomes
(C} Peruvian andes (C) XX chromosomes
(D) China (D} One X- chromosomes

106. Mageri, a breed of cow comes under | 411, Nuclear membrane originates from

::!;Ir:r;:;:-it::; (8) Tonoplasts
I 5
(B) ER
B) General ulility breeds -
(B) General utility br (C) Erosisomes ‘

(C) Draught breeds
(0) Mone of these

(D} Esides of Golgi bodies
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102.

103.

104,

105,

106.

Ai

Population increases in a geometric
ratio while food supply increases in
arithmistic ratio is according 1o

(A) Roenigen *
(B) Mailthus

(C) Chadwick

(0} Niel Bohr

Most active ingredient of Manjuana is
(A} ergosterol

(B) tetrahydro

(C) ergastin

(D) none of these

Which chemical is used for fusion of
protoplast of two cells 7

(A) P.E.G.

(B) Both A+C

(C) Sodium nitrate
(D)  MNone of these

Onion came from which country 7
(&) USA

(B) Ceniral America

(C) Peruvian andes

(D) China

MNageri, a breed of cow comes under
which category 7

(A) Milch breeds

(B) General utility breeds

(C) Drauvght breeds

(D) None of these

107.

108.

108.

110,

111,

Bacillus Sublillis forms how many
antibiotics 7
(A) 40
(B) BO
(C} 60
{0} 100

What was tha product of ancient
blotechnology 7

{A) Soma

(B} Alcohal
(C) Sura

() Al of these

Lymph nodes are o fighl against
(A} RBC. '
(B) W.BC.

(C) Lymph o4
(D} Germs '

L
P

A human ovum contains

{A) & pair of X chromosomas
(B) ¥ chromosomes

(C) XX chromosomes

(0} One X- chromosomes

Nuclear membrane originates from
(A) Tonoplasis

(B) ER

(C) Erossomes

(D)} Esides of Golgi bodies
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(A) PEG.
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(C) I e
(D) T HFE HE

105, T farm Swd At 7
(A} USA.
(B} wea sHfEm
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e 7
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(B) HWTI ST
(C) ==+
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112 According to Chargaffs rule
(A} A+T=G+C
B) A+G=T+(,
(C) A+C=T+0G
(D) A4+G=C+U

113. Enzymes which exist Is more than
ane form

(A) coenzymes
(B) hydrolases
(C) isozymes

(D) translerases

114. Erythroblasiosis foatalis occurs when
(A} Rh* mother + Bh~ father
(B) Rh* mother + Rh* father
(C) Bh~mother + Rh* father
(D} Nene of thase

115. Kala-Azar is caused by
(A) tse-tselly
(B) ratfy
(C) sand fiy
(D) house fly

116. In Ascans. firsl and last moulis takes
place in

(A) Liver

(B) Heart
(C) Kidney
(D)  Intesting

117

118.

118.

120.

121.

Smallest size of tha cell which can be
seen with naked eye

(A} 1 micron
(B) 100 micron
{C) 10 micron
(D) 1000 micron

The gilis of Mushoom

(A) Help In respiration

(B) Bear spores which help in
reproduction

(G} Help n Nutrition

(D) Help in enhancing buoyancy

Blood calcium level can be Increased
by administration of
(A) glucogen
(B) parathormons
(C) thyroxine
(D) calcitonin

Bone Marrow |5 absan! In
(A) reptillia

(B) fishes

(C) amphibla

(D) rds

The Coconut and Mango fruils are
(&) Erries

(B8] Drupses ‘

(C} Hesperidium

(D) Omes
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(A) A+T=G+C
{E':I A+G=T+C
(C) A+C=T+G
D) A+G=C+U

St 4 =Rt ek o i e
ferem T R 7
(A) TR Ui
(B) wESEEY
(C) Ty
(D) ZFEwwEy

Ul e d
- Bl

(&) Rh* =\ +By fmn

(B} Rh*TmT +Rh* oM

(C) Rh~ 9@ +Rh* fm

(D) 57 | o
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113,
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115, FEn-39R
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(A) H-8 wa

(B) <ETHEE]

(C) a Hedi

(D) =t et

Fan s gan s s e
g

(A) T

(B) =59

(C) 9%
(D} =id
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119.

120
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122,

123.

124

125.

126.

Which of the following is not a
saturated fatty acid 7

(&) Montonic acid

(B} Paimitic acid

(C) Oleic acid

(D) Tearic acid

Which of the following is called
“Jockers of microbiological park™ 7
(A) Bactena

(B) WVirus

(C) Mycoplasma

(0} Cyancbactaria

When a grape s placed In
concentraled sugar solution then it

will show

(A} Smosis

(B} Imbibition

(C) Plasmolysis
(D) None of these

Whe proposed the “Chequer Board
Method" 7

(A) Mendel

(B) Punnsi

(C) Carrens

(D Darwin

Adrenal gland is derived from

(A) Ecloderm

(B) Both ectoderm and endoderm
(G) Mesoderm

(D) Both ectoderm and mesodenm

127.

128,

129.

130.

131.

Filtration fraction s the ratio of

(A) Q,andCO,
(B) GFR and Rpt
(C} HCO; and H,CO,
(D) Hb and HbO,

Complementary genes in F,
genaration give ratio

(A) 9:3:31

(B) 151

() 133

(D) o1

The anzyme necessary for HSK
pathway

{A) RUBP carboxylase

(8) Dehydrogenase

(C} RUBP H&xuhinaa?-':; |

(D) Hexokinase

The products of Hill's reaction are
(A) ATP

(B} Oxygen

(C) MNADPH+H

(o) Al

In which form are carbohydral
located in plants 7

(A}
(B)
{C)
(D)

Glucose

Sucrose «
Fructose

Mallose
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127.
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130,

131.
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(A) 0,3 CO,
(B) GFR 3Rt
(C) HCO4 31 HC0,
(D) Hb 3 HbO,
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(A) B:3:31

(B) 15

G 133

(D) 94

it
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(A} RUBPFRi#cE
(8) ElFrelie 5
(C) RUBPFwRRE '
(D) e
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(a) ATP

(B) Sl

(C) NADPH+H

(D) wdt
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(B) =Fm
(C) g

(D) wE2H
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8.
(A)
(B)
(C)

(D)

0, # R COo,

GFR # Rpt
HCO,, 31T H.CO.
Hi 3 HbO,,

Foi@tfapaay
AT AR |

(A) 331

(B} 15:1

(C) 133

D) 91

HeKmE&fee___ yfemS L
HETHE | 7
(A} RUBP IR &
(B) FemEfai 7%

(C) RAUBP T

(D) T

o whafFEn s amm g
(A} ATP

(B) wiwd=A

(C) NADPH+H

(D) =

9t A wtEEee e H e ¢
(A) TEEE
(B) WFE

(C) F=E
(D) =wEE
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13E.

133.

134

135.

136,

MNumber of NADH,, producad in Kred
cycle
(A)
\B)
(C}
(D)

o B o N

The amount of enargy given by one
molecule of ATP is

(A) 7.3 Kcal
(B} 7600 K cal
(C) 721K cal
(D} 1000 K cal

Which of the following chemical
glement is present in all proteins 7

(A) Nitrogen only

(B} Hydrogen, nitrogen and oxygen
(G} Hydrogen and Nitrogen

(D) Nitrogen and oxygen

Substance that can be absorbed
without digestion are tha

(A) Minarals
(B) Proteins
(C) Carbohydrales
(D) Vitamins

A carbohydrate thatl cannot be
digested by humans is

(A) Glucose

(B} Cellulose

(C) Starch

(D) Sucrose

1ar.

138.

138

140,

141

.

The percentage of alveaclar air
exchange with each breath is

(A] 5 percen

(B) 100 percent
(C) 10 percent
(D} 95 percent

Haemoglobin is found dissolved inthe
plasma of
(A) Man
(B} Bird
(C) Frog
{0} Earthworm

The process of ubular reabsorption

from the nephron may
(A) Be passive
(B) Be active - -
5
(C) Involves carrier molecules

(D) AandC

Cutaneous raceptive fields are
smalles! in

(A) Finger lips
(B) Thighs

(C) Back

(D) Arms

The storage form of thyroid hormone
(A} Thyroglobulin

(8) Thyreid binding globulin
(C) Frese thyroxine

(D) Trildothyroxine
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142,

143.

144,

145,

146,

From which natural substance was
auxin isolated for tha 15! time 7

(A
(B
(C)
(D)

Human hﬂnaa:
Human urine
Guano
Human blood

2, 4 dichlorophenoxy acetic acid s
used 1o destroy

(A) All weeas
(B} Dicot weeds
{C) Monocot weads

(D) MNone

Collectively, the extarnal genital
organs of the female are known as the

(AY Wulva

(B} Libia minora
{C) Libia majora
(D} Mons pubis

As comparad with the sperm, the egg
contains more

(A)
(B)
()
(o)

Chromosomes
Cytoplasm
Mitochondria
Centricles

The study of ageing is called
(A)
(B}
(C)
(D)

Gerontology
Ageology
Tetrotology
Regeneration

147.

148.

148,

1564

151.

V0 AR 0 e

The last succession in a sere |8
(A)
(B)
(C)
(D)

final sere
climate climax
climax

bath (B) and {C)

Flippers or paddies of fishes are
maodification of

(A) Gut

{B) Forelimbs
(C) Hindlimbs
(D} Skull

The average heigh! of Zulu and
Watusi tribes man is

(A) 1.2mand2.2m
{(B) 0Bmandl2m y
(C) 22mandi2m Lo
(D) 1.2mand0.Bm

Aphotic zone in sea maintaining
constant salinity ranges from

(A) 10mio 100m

(B) 200 m to 6000 m

(G) 200 mto2000m

(D) 2000 m to 6000 m
Physical basis of life is

Ay Cell

(B) MNucleus «
(C) Protoplasm

(D) Food



142

143,

144,

146.

alelt Fafie awg wee aw i
yuEhEa & 7

(A} THE sy

(B). HFEHE

(C) &M

(D) AFEFHE

2, 4 TG TR UG o STt 1
I T & fen
ERIEEIC Iy

(A) FH W ST

(B) fimer srwgm

(C) TEEE T

(D) 3 & =i off ]

HPier w9 W Wi o a wiE
FETHA |

(A} ==

(B) Ferfamaam
(c) Tt i
(D) wragim

?Iﬂﬁﬂﬁﬂﬁﬂﬁﬁ__m
A8

(A) T
(B) WEEETR
(C) wrEaiEn
(D) AR

ST F S 1 e B
(A) TR=ETE
(B) vt
(C) Rt
(D) TEE

147.

148,

148,

150.

121,

LR

JDD-65/PGT- BIO/ TIER-IVX-15

Hre =7 Sifim s R
(A) sife efiem

(B) FrEHEFEHEE
(C) g

(D) (B) 3 (C) 7

it % raer s R

F B E |
(A)  STER A
(B) WA 37
c) T am
(D) @

TR apdiaafcsiamm
3t $ard

(A) 1.2ma22m
(B) 0OBm&AR12m
(C) 22maM12m

(D) 12m3R08m

WYE % hifem wew fom wiomm #i
U 1 He s e T e, =

(A) 10m¥ 100 m™F

(B) 200 m# 6000 mdH
(C} 200 m¥ 2000 m T
(D) 2000 m# 6000 mTF

sATa = s s 2
(A) =i

(B) =fFam
(C) Wreheims

(D) =mH

1




JDD-65/PGT- BIO/ TIER-I/X-15

152. The atmosphere of the sary earth
was composed mainly of

(A) Ammonia »

~ (B) Hsalium

(C) Oxygen
(D) None of the above

" 153. Which of the following sleeps most of
it lifetime upto 17 years, stays awake
for about 5 weeks and their dies 7

{A) aphid
(B} dragon fiy
(C) cicada

(D) grasshopper

154. Ealing the individuals of its own
species- 5
(A} Coprophagy
(B} Mutualism
(C) Autophagy
(D) Cannibalism

155. Specimens with take struclures

resembling plant remaing are called
(A) pseudo fossils

(B) pseudomicro fossils

{C) micro lossils

(D) pseudo palasoes

1568, Linnaan system of plant classification
is baged on

(A) Morphological and anatomical
character

(B) Evolutionary trends
(C) Floral character

(D} None ol the above

157. Currantly the number of animals and
plants known 10 science IS

(A) 0.5 million and 1.2 million
(B 1.2 million and 0.5 million
(G} 0.1 million and 1.0 million

(O} 1.0 million and 0.7 million

158. Species ol cyanobacteria ;ﬁﬁnnmhla
for red colour of red sea is

(A Chlococcus

(B) Lyngloya
(C} Trichodesmium erythracum
(D} Nosloc

159, Which of the following bacteria is a

parasite on other bacteria 7
(A} Bellovibrio

(B) Beggiatoa <
(C) Thiothrix

(D) Escherichia
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180, In bacteria, the respiralory enzyme

are located on

(&) Plasmid v
(B) Mesosome

(C] Episome

(D) Nucleoid

161. Kappa particles 'Self replicating
bodies’ produce toxin called

(A) Haemozoln
(B) Venom
{C) Paramicin

{D) None

162. The major function of contractile

vacuole is

(A) Excrétion

(B) Osmoreguliation
{C) Circulation

{D) All the above

163, Yeastcells are an important source of
(A) Sugars
(B) Vitamin C
(C) Riboflavin

(D) Proteins

164,

165.

166.

167.

168

First land inhabiting plants are
(A) Bryophytes

(B) Ptendophytes

(C) Gymnosperms

(D) Angilosperms

Which one of the following is called
Horsetail ¥

(A) Equisetum

(B) Lycopodium
(C) Marsalia
(D) Selaginella

At wha! stage, the proembryo is
formed 7

(A) 4 celled
(B) 12 celled B
(C) 18 celied Fe?
(D) 16 celled

Hexacanth is

(A} Head

(B) A six hooked embryo
(C) Maked embryo

(D)  Adult tape worm

What is typhosola of Earthworm 7
(A) adelence mechanism

(B} a part of the circulatory system
(C) anexcretory organ

(D} afoldof the intestine
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169

170.

1.1

172,

173.

Tube feat occur in

(A) Snail

(B) Starftish
(C)  Cuttle fish
(D) Catfish

Limbless amphibians have
(A} dry skin

(B) no copulatory organs
(C) noeyelids

(D} only hind imbs

Scaly tail is found in
(A) Horse

{(B) Habbits

(C) Moles

(0} Dﬁgs

Na* — K* exchange pump involves

(A} Ditfusion
{B) Deplasmolysis
(C) Osmosis

(D} Actve transpon

Fibroblast can move over
(&) Liquid surface

(B) Solid surface

{C} Both{A)and (B}

(D) MNone ol above

174,

176.

176.

177.

DMNA synthesis is studied by

incarporation of radiolabelled
(A) Adening

(Bl Hibox Engar

(C) Uracil

(D} Thymidina

Cyftoskeletal structures occur in
(A} Eukaryotic cells

(B} Fungi

(C) Green aigae celis

D) A+B+C

Duplication of mitochondrial DNA

ocour during

W G
B Gy

(C) Gy

Dy S

MNobel prize for the discovery of the
DMNA molecules was awarded In tha

year

(A} 1962
(B) 1870
(C) 1965
(D) 1853
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178.

180

181.

The anhydro-bonds of proteins are
called

{A) Glucosidic bonds
B) Esterbonds
(C) Peptide bonds
(D} Diester bonds

Which is 8 component of chiorophyll 7
(A) Mg
(BY Zn
(C) Mn
(D) Fe

Separation of chromatid segmeanis
oceurs In between two gaps by

(A} U-protein

(B8) Exonuclease
(C) Unwindase
D) A+B

A woman sues a man for the supports
of her child. She has blood group "A’
her child ‘0" and the man ‘B’

{A) could the man be the father of
this chiid

(B) could both of them together
produce such child

(C) they cannot have a child with ‘0’

blood group
(0} both (A) and (B)

182

183.

184.

185.

When a chromosomes shows genea
ABCD DCBA this type of chromosomal
aberration is termed as

(A) Delehion
(B} Translocation
{C) Duplication

{0} Inversion

The triplet UAG, UAA and UGA are
called

(A} Mon sense codes
(B} Initiating codes

(C) Terminaling codes
(D) Bath(A)and (C)

Which enzyme catalyse the
conversion of ANA to DNAZ  **

(A] Transcriplase
(B) PReverse transcriptase
(C) Polymerase

(D} PReverse polymerass

A woman has a child with Klinfeller's
syndrome. Number of barr bodies
presant in child is

(A) 1

B 3 _
(€) 2 '
(0] MNone
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186. Barbara McClincock discoverad

{A] Transposons
(B} Cosmids 2
(C) Plasmids

(D) Prions

187, Multilayered pericycle is found in
(A) Agave

(B) Alocacia

() Aloa

(0} Avecinia

188. Clypens in cockroach is
{A) parn of head
(B) partofleg
(C) part of wing

(D)} partof Ihoask

188, Cardiac muscle apart from the

myocardium is also present in
(A) pencardium
(B) endo cardium

(C} proximal portion of aorta and

vanae cavae

(D} epicardium

190, The value of water potential ol pure
watar at normal temperature and

pressure is
A 1
{B) O
(Cy —1

(D) 2

191. What |5 the Intensity of sound in

normal convarsation 7

(A) 10 - 20 decibel

(B) 30 - 60 decibel oy
(C) 70890 decibel

(D) 120 - 150 decibel

192. During an injury Nasal seplum geis
damaged and for its. recovery which
carlilage is preferred 7
(A) Elastic cartilage
(B} Calcilied cartilage
{C) Hyaline carilage

(D) Fibrous cartilage
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183,

124,

195

186.

Which ofule following is closesl
relative of man 7

(A) Chimpanzege

(B) Orangutan

(C) Gorilla

(D) Gibbon

Before the European invader which

vegetable was absent in India ?
(A} Maize and Chichinda

(B) Potaio and Tomalo

{C) Simia Mirch and Brinjal

(D) Bittergaurd

Triticate 15 obtained by crossing

wheat with
(A) Oat
(B) Maize
(C) Bardey
(D) Rye

The book Genera Plantamffi was
written by

(A) Bessy

(B} Engler and Prant

{C) Hutchinscn

(DY Bentham and Hooker

197,

198

189.

200.

Dentaloformiula in adolescent girl of
age below 17 years is

o 2132
W 9132
L 22
(B) 2123
o 2120
2320
2122
) 2122

The lerm gouaculture means
(A} Inland hsheries

(B) Aspergiliosis

(C) Marine fishanes

() BothAandB e

Homo sapiens evolved during
(A) pleistocene

(B} pliccens

(C) oligocene

(D) miocena

The endangered largest living lemu
Idri-idri is found in

(A} SriLanka
(B) Maurntius

(C) Madagascar
(D) India
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1) Essay (In English)

I Write an essay on any one of the 1opics given balow :
a) Time is Money. i
OR
b} Advantages of lorking while attending colleges.
OR

c) Examination are an essential part of the education system.

30 Marks

LI aares —
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ii) Letter writting / Expansion of Ideas (In English)

Il. Answer any one of the lollowing . 20 Marks

a) Write a letter to the postmaster of your pnst office complaining about the
carelessness of the postman,

OR !
b) “One who scolds yowis your well-wisher”. Expand.

OR
c) “Lite Is not a bed of Roses” - Expand.
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leave the Examination Hall,

This Booklet consiats of Descriptive
Examination — 2 questions of 50 marks.
Limit your answer to the space provided
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¥

Answar the Questions as carafully as you
can. Some Questions may be difficult and
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